OPERAZIONI MISTE ENTRO IL 9.999

Metti in colonna e calcola con la prova:

964 + 8.460 =

6.630 + 1,993 =
4218 + 213 + 3.857 =
9.993-4051=
9.997 -1.982 =

6.110 - 5.019 =

2.355 x4 =

92 x 69 =

323:4-=

471:6 =

OPERAZIONI MISTE ENTRO IL 9.999

Metti in colonna e calcola con la prova:

6.606 + 2.483 =
6.448 + 3.257 =

528 + 3.613 + 5,521 =
3.468 - 1.180 =
7.332 - 341 =

9.466 - 4527 =

1.714 x 8 =

77 x 62 =

233:9=

719:7 =
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OPERAZIONI MISTE ENTRO IL 9.999

Metti in colonna e calcola con la prova:

1.932 + 6.297 =

2.208 + 544 =

1.277 + 3.012 + 4862 =
6.773 - 4482 =

9.248 - 2.845 =

5.900 - 5.891 =

1856 x 4 =

165 x 53 =

6.533:9 =

7.839:3 =
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OPERAZIONI MISTE ENTRO IL 9.999

Metti in colonna e calcola con la prova:

2191+ 2924 =

707 + 8.329 =

1.201 + 4.055 + 1.765 =
8.561-7.302 =

6.051 - 5.026 =

6.058 - 1.713 =

1.094 x 7 =

324 x 28 =

359:5=

282:9-=




OPERAZIONI MISTE ENTRO IL 9.999

Metti in colonna e calcola con la prova:
619 + 4370 =

2.666 + 4545 =

798 +1.025 +7.491 =
7.530 - 1.650 =
2.854 - 1.059 =
4512 - 229 =

1523 x4 =

196 x 47 =

7444 .7 =

4018 :4-=
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OPERAZIONI MISTE ENTRO IL 9.999

Metti in colonna e calcola con la prova:

1.455 + 5.360 =

4510 + 5.100 =

3.857 + 2.406 + 1.993 =
7.284 - 2.184 =

9.743 - 4.600 =

7.193 - 1.106 =

3127 x 2 =

311 x 31=

6.528 :7 =

8.382:5=
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